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B2.

B3.

def tipose():
if self.vathmos >= 10:
print “Npodystat”
else:

print “Napanéuntetal”

mathitisl = Mathitis(103,”NwoAdouv”,19)

mathitis2 = Mathitis(105,”Tewpyiov”,9)

matbhitisl.tipose()

mo = (mathitis1l.vathmos + mathitis2.vathmos)/2
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OEMAT
#r13
def ypologismos(ar):
xr=0
if ar <=3 and ar>=1:
xr=ar*120
elif ar>=4 and ar <=6:
xr=3%*120+ (ar-3)*100
else:
xr=3%120+3*100 + (ar-6)*70

return xr

synolo = 0 #ouvoAikd écoda

plithos10 = 0 #mAnBo¢ atopwv ou ayopacay Mavw anod 10 Tepdyla

#r1
foriin range(50):
ar = int(input("Awoe Tov aplBud tepayiwv"))
xrewsh = ypologismos(ar)
print xrewsh
synolo += xrewsh
if ar > 10:

plithos10 +=1



#H2
print synolo
print (plithos10/50)*100
OEMA A
max =0
pl=0
athr=0
KOD =]
VATH =]
kodikos = raw_input("Awoe kwdko")
while kodikos A= "TELOS":
KOD.append(kodikos)
vathmos = int(input("Awoe Babua"))
# €\eyX0C EYKUPOTNTAG TILWV
while vathmos >100 or vathmos <1:
vathmos = int(input("Awoe Babuo"))
VATH.append(vathmos)
pl+=1
athr += vathmos
# elpeon PEYLOTNG TIUAG
if max < vathmos:
max = vathmos

kodikos = raw_input("Awoe tov emoueVo KWLIKO")



mo = athr/pl
# €\eyyog
foriin range(len(VATH)):

if VATHI[i] == max:
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f.write(st

f.close()



